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32.12 1:08.51 1:44.89
2 R oFE L X1 /5 2:21.73 9%% ( 0.62)
32.26 1:08.58 1:46.00
3 TR K R R = 1/ 3 2:25.45 9%% ( 0.62)
32.98 1:09.43 1:46.39
4 BIAR Iy AT &2 1/ 6 2:28.39 8%k ( 0.66)
33.19 1:10.73 1:49. 46
5 Mgk KSR F B =) 1/ 2 2:28.94 8#% ( 0.66)
33.45 1:11.48 1:49.99
6 JEH RS & 5 e B =3 1/ 1 2:32.42 #%  ( 0.75)
34.40 1:12.40 1:52.45
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2 kg H K FH 7 B El 1/ 4 2:03.02 8tk (0.71)
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3 MrH = N B N 1/ 6 2:04.32 65% ( 0.70)
28. 18 59.30 1:31.53
4 BEER B LI B = 1/ 7 2:06.07 7#%  ( 0.65)
28. 29 59.79 1:33.42
5 AN K KA EE = 1/3 2:06.76 7#% ( 0.66)
27.74 58.63 1:31.61
6 EifE Nz EONIF==Rsy 7N =3 1/ 1 2:07.97 6% ( 0.66)
28.69 1:00.74 1:34.09
7 )l JEFUPN i EE K1 1/ 2 2:08.11 65% ( 0.67)
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20,78 - REH
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32.62
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8 Hik Xz {IJJJE%E%]S?;%E& 53 1/ 8 1:14.51 5#%% ( 0.66)

HAOBRME: 8H31H 15:05



F5591m1 42 [E 87 4 P AR AR B K2 85 30[m] A2 ] ) % B P P OK PR e B R 2

2 ALEE LIRS S TE B AR 7 — L (50m) 1/1
WA ;202448 H31H (+)~9H1H (H)
No.22 BF 200m /N2 754 R £ 2:05.26
B K £ B FE 7K B iclE
1 K Ao B =3 1/ 4 2:06.67 9% ( 0.63)
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2 T b JEE VR I v B 52 1/ 5 2:17.44 7%  ( 0.66)
29.20 1:02.89 1:38.97
3 A& WK K- B 2 /3 2:18.76 68% ( 0.70)
28.96 1:02.70 1:39.23
4 fif i J\JF & B K1 1/ 6 2:20.36 6% ( 0.68)
29.94 1:05.07 1:43.60
5 VR RIGEA AN x1 1/ 2 2:21.38 5#% ( 0.64)
29.49 1:05.15 1:42.45
6 FH 3 F 0 L =a| 1/ 7 2:23.05 6% ( 0.76)
31.10 1:07.52 1:44.67
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1 BRA ROEE 7 i B x1 1/ 4 2:19.96 5#%% ( 0.58)
32.15 1:07.46 1:44.03
2 LR R fili5 & B LA =3 1/6 2:21.38 6% ( 0.57)
31.42 1:05.88 1:43.25
3 YR BROK B i =2 /3 2:22.20 T#% ( 0.58)
32.00 1:06.97 1:44.29
4 jik HH i) L 53 1/ 2 2:25.08 5%% ( 0.65)
32.94 1:09.33 1:46.92
5 LRy i & L B K2 1/ 5 2:26.11 4#%  ( 0.58)
32.65 1:09.04 1:47.42
6 VEETEKEA & 5 e B =) 1/ 8 2:29.85 5%%  ( 0.50)
34.33 1:12.40 1:51.97
7T HEE JESR= =) 1/ 1 2:30.43 4%%  ( 0.60)
32.43 1:08.92 1:49.31
8 Jalfk e S =3 1/ 7 2:31.14 4%%  ( 0.62)
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9—'—-&% 7KE§ E% FEﬁ
1 = e 1/3 2:10.33
32.89 1:08.96 1:41.06
1 B 92 w2 (0.59) 32. 89
2 KHIlkmEE =l (+0. 43) 36. 07
3 ke EARk w1 (+0.57) 32. 10
4 WA EHE =2 (+0.32) 29.27
2 —MEH 1/ 5 2:11.42
35.06 1:12.25 1:41.31
1 T /N K2 (0.64) 35. 05
2 g HELS K1 (+0.23) 37. 20
3 TRk F=3 = (+0. 36) 29. 06
4 Fguh  FERE El o (+0.57) 30. 11
3 AmE 1/ 4 2:12.67
31.43 1:14.72 1:43.60
1 & 3 w3 (0.56) 31.43
2 EA BAE w2 (+0.34) 43.29
3 JImEEA = (+0.57) 28. 88
4 =W EEE K1 (+0.51) 29. 07
4 FoEkiLE 1/ 6 2:17.58
35.64 1:15.89 1:47.79
1 Z ErXii] K1 ( 0.51) 35. 64
2 WA EM m2  (+0.45) 40. 25
3 B I&ES E=3 (+0.62) 31. 90
4 EH g w1 (+0.35) 29. 79
5 R EE 1/ 2 2:19.33
34.93 1:15.78 1:47.74
1 /M FE K1 (0.59) 34.93
2 HEE BT K1 (+0. 47) 40. 85
3 Mg X7 E3 o (+0.37) 31. 96
4 iy WS w2 (+0.33) 31.59
6 e 1/ 7 2:25.18
34.03 1:14.92 1:50.42
1 @K WER w2 (0.53) 34.03
2 miE —i#E w3 (+0.23) 40. 89
3 miE L K1 (+0.34) 35. 50
4 RH W =2 (+0.49) 34. 76
(ERVINIIF=E= 1/ 1 2:29.50
31.75 1:18.38 1:54.76
1 Kl 1t w1 (0.55) 31.75
2 MHE ¥ ml (+0.23) 46. 63
3 Al A E2  (+0.55) 36. 38
4 R ZEEE K1 (+0.34) 34. 74
8 AR KEE 1/ 8 2:35.40
39.51 1:27.05 2:02.98
1 s FH4 w2 (0.72) 39. 51
2 IR FRAK = (+0. 55) 47.54
3 INIARALES E3 (+0.51) 35.93
4 Kty FT w1l (+0.58) 32. 42
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WA ;202448 H31H (+)~9H1H (H)
No.25 BB+ 4x100m A FL—1 L— R «ek 4:01.00
1 = e 1/ 3 4:01.49
29.96 1:02.27 1:33.62 2:09.97 2:37.49 3:08.62 3:33.58
1 Z&M XL= =1 (0.53) 29.96 1:02.27
2 BEER % &2 (+0.50) 31.35 1:07.70
3 N Btk w2 (+0.59) 27.52 58. 65
4 fE 03 x2  (+0.47) 24. 96 52. 87
o LGS 1/ 4 4:03.42
31.11 1:05.77 1:35.77 2:10.33 2:37.79 3:09.96 3:35.12
1 Rt =3 (0.66) 31.11 1:05.77
2 FR TE K1 (+0.34) 30.00 1:04.56
3 HER AR =3 (+0.68) 27. 46 59. 63
4 F/H Kb w3 (+0.19) 25. 16 53. 46
3 tEHEHE 1/5 4:09.21
31.81 1:07.01 1:39.52 2:14.99 2:41.64 3:11.23 3:37.80
1 s EE =3 (0.62) 31.81 1:07.01
2 Mex KT K2 (+0.43) 32.51 1:07.98
3 A0 KIR K1 (+0.62) 26. 65 56. 24
I N =) =3 (+0.57) 26.57 57.98
4 kP 1/ 6 4:14.70
30.63 1:04.56 1:37.45 2:14.46 2:42.62 3:15.98 3:43.50
1 M x =l (0.59 30.63 1:04.56
2 A mK w2 (+0.55) 32.89 1:09.90
3 #& I E2 (40 30) 28.16 1:01.52
4 VELL i) =3 (+0.34) 27.52 58. 72
5 N\ EE 1/ 8 4:18.56
33.34 1:08.45 1:40.30 2:17.67 2:46.79 3:20.36 3:47.80
1 EfE EoE =1 (0.63) 33.34 1:08.45
2 BIAR #I =2 (+0.24) 31.85 1:09.22
3 fh B K1 (+0.26) 29.12 1:02.69
4 B =l (+0.57) 27. 44 58. 20
6 EHEE 1/ 2 4:19.77
32.29 1:07.72 1:39.86 2:16.93 2:45.39 3:19.55 3:48.15
1 "EYE BROK =2 (0.5D) 32.29 1:07.72
2 EE &R w2 (+0.05) 32.14 1:09.21
3 ke % =3 (+0.39) 28.46 1:02.62
4 8K BN =2 (+0.15) 28.60 1:00.22
(ERVINIIF=E= 1/ 1 4:21.47
32.78 1:09.22 1:43.13 2:24.30 2:51.79 3:24.49 3:51.64
J #h =3 (0.61) 32.78 1:09.22
2 WE A& K1 (+0. 65) 33.91 1:15.08
3 e —# E2 o (+0.28) 27.49 1:00.19
4 KAk X2 (+0.38) 27.15 56. 98
8 fEEmEE 1/ 7 4:21.61
33.97 1:11.32 1:44.75 2:22.60 2:51.26 3:24.21 3:51.64
1 JESEIE R =2 (0.54) 33.97 1:11.32
2 A R =3 (+0.61) 33.43 1:11.28
3 FHEF AN w2 (+0.51) 28.66 1:01.61
4 Il EA w3 (+0.38) 27.43 57. 40
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No. 26 ZF 4x50m 21— L— & 2RH 116537
1 —PB&EE 1/ 4 2:01.58
28.73 59.30 1:32.33
1 T =S =1l (0.66) 28.73
2 TIE N X2 (+0.30) 30. 57
3 mE =S =3 (+0.72) 33.03
4 mEiE HER K1 (+0.48) 29. 25
2 T E R 2/ 4 2:01.92
30. 05 59.31 1:30.75
R ANIE N =l (0.66) 30. 05
2 W FEE =1 (+0.37) 29. 26
3 AR EHRH =2 (+0. 44) 31. 44
4 BB DI =2 (+0.41) 31. 17
3 HREEH 2/ 5 2:02.85
30.97 1:01.36 1:33.82
1 BIHVDESAE =3 (0.63) 30. 97
2 LIENEHR ml (+0.27) 30. 39
3 HE O ER K1 (+0. 24) 32. 46
4 bk HEgk K1 (+0.24) 29.03
4 SR EE 1/ 3 2:04.81
28.58 1:01.96 1:34.38
1 Kl 1t w1l (0.65) 28.58
2 AEE R K1 (+0.43) 33.38
3 fifilf fib E2 o (+0.62) 32.42
4 MH E w1l (+0.33) 30. 43
5 R EE 1/ 5 2:06.52
30.45 1:02.49 1:36.20
1 /M FE X1 (0.63) 30. 45
2 L WS =2 (+0. 45) 32.04
3 e th=E &=l (+0.39) 33.71
4 ERE 13 =3 (+0.63) 30. 32
6 e 2/ 3 2:07.68
29.56 1:02.26 1:36.84
1 @K WER =2 (0.69) 29. 56
2 miE —i#E w3 (+0.19) 32. 70
3 KM WA =2 (+0.60) 34. 58
4wk g K1 (+0.32) 30. 84
7 kFEE 2/ 2 2:09.49
32.31 1:04.17 1:39.54
1 JIIH = w2 (0.74) 32.31
2 M He El (+0.42) 31. 86
3 BFIIHD =2 (+0.59) 35. 37
4 Ak WE w1l (+0.58) 29. 95
8 feEthfrmE 2/ 6 2:10.43
32.28 1:06.94 1:39.59
1 g e =1 (07D 32.28
2 WA B &3 (+0.44) 34. 66
3 Kl KF =3 (+0.25) 32. 65
4 i FETH =3 (+0.57) 30. 84
9 Hldk = 1/ 2 2:13.55
31.98 1:09.15 1:42.27
1 MW A XL (0.7D 31.98
2 AT OB &2 (+0.73) 37.17
3 R Bk K1 (+0.46) 33.12
4 AL X2 (+0.58) 31.28
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F—L4 K& B
10 S 1/ 6 2:15.73
33.58 1:05.55 1:44.93
1 i wE =3 ( 0.64) 33.58
2 T L &l (+0. 69) 31. 97
3 Wl R =2 (+0. 86) 39. 38
4 Bl BAE =2 (+0.25) 30. 80
11 KREMEHE R 2/ 7 2:18.45
30.25 1:08.07 1:45.70
1 AR PSx =3 ( 0.75) 30. 25
2 R B =) (+0. 53) 37. 82
3 #aAK  FRIR Bl (+0.42) 37.63
4 I WG X2  (+0.61) 32.75
12 & L& s K 2/ 1 2:21.47
32.43 1:01.39 1:31.85
1 EA = K1 (0.74) 32.43
2 BHA W =) (+0. 46) 28. 96
3 =K &3 (+0.35) 30. 46
4 BAK #HE = (———- ) 49. 62
& 5 e B 1/ 7 %k#&10.12
34. 47
1 s K2 ( 0.79 34. 47
2 Sl diE =2
3 I B =2
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WA ;202448 H31H (+)~9H1H (H)
No.27 BB+ 4x100m 2 )—1) L— FiE SEEE 3:30.72
9—'—-&% K& E% FEﬁ
1 /s R 2/ 3 3:44.58
27.27 56.71 1:23.24 1:52.12 2:18.52 2:49.33 3:15.57
1 B R =3 (0.59 27.27 56. 71
2 WA X2 (+0.60) 26.53 55. 41
3 Wi A& K1 (+0. 44) 26. 40 57.21
4 AEHERIREA X1 (+0.19) 26. 24 55. 25
2 AlHE B4R 1/ 6 3:45.64
26. 17 54.34 1:20.55 1:50.22 2:17.27 2:47.85 3:15.42
1 Bm =3 (0.73) 26. 17 54. 34
2 BT #K =2 (+0.42) 26. 21 55. 88
3 EdRHE—ER X2 (+0.31) 27.05 57. 63
4 +H FEF K1 (+0.30) 27.57 57.79
3 M EE 2/ 4  3:46.01
26.23 55.01 1:21.62 1:52.36 2:20.38 2:51.42 3:17.54
1 AR K K1 (0.64) 26.23 55.01
2 Mgk Kb =2 (+0.33) 26. 61 57.35
3 ki #®t F3  (+0.55) 28. 02 59. 06
4 YN Btk =2 (+0.55) 26. 12 54. 59
4 KFEE 2/ 5 3:46.83
26. 75 55.73 1:22.29 1:51.62 2:19.20 2:50.54 3:16.84
1 A WA w2 (0.59 26. 75 55. 73
2 & VTN &2 (+0.39) 26. 56 55. 89
3 WL i) E3 (40,41 27.58 58. 92
4 Mg x =l (+0.18) 26. 30 56. 29
5 fEilEE 2/ 6 3:49.76
25. 68 54.56 1:21.85 1:52.24 2:19.54 2:51.80 3:19.20
1 AW K =3 (0.57 25. 68 54. 56
2 R == &3 (+0.52) 27.29 57.68
3 [ S A =3 (+0.2D) 27. 30 59. 56
4 ik M i) =3 (+0.35) 27. 40 57. 96
6 EHEE 1/ 4 3:50.96
27.30 57.82 1:26.53 1:58.05 2:25.44 2:56.18 3:22.48
1 "EYE BROK =2 (0.75) 27.30 57. 82
2 AR BN =2 (+0.22) 28.71 1:00.23
3 ke % =3 (+0.38) 27.39 58.13
4 s &R =2 (+0.07) 26. 30 54. 78
T ENE R 1/ 3 3:51.04
27.25 58.12 1:25.40 1:55.84 2:23.53 2:55.03 3:21.23
1 @\ &S X1 ( 0.58) 27.25 58. 12
2 EE bt E2 (+0.48) 27. 28 57. 72
3 =iE =2 m=l o (+0.15) 27. 69 59. 19
4 VrH sk K1 (+0.39) 26. 20 56. 01
8 FKHEE 1/ 2 3:51.32
26. 56 55.94 1:23.99 1:57.11 2:24.03 2:54.79 3:21.82
1 g 2 =1 (0.66) 26. 56 55. 94
2 ik i} X2  (+0.60) 28.05 1:01.17
3 A & K1 (+0.38) 26. 92 57. 68
4 =IWEE KR X1 (+0.30D) 27.03 56. 53
9 wBHEH 2/ 8 3:571.21
26.78 59.46 1:29.57 2:02.86 2:28.60 2:56.77 3:24.92
) N ) w3 (0.64) 26. 78 59. 46
2 LlF  VER =3 (+0.40) 30.11 1:03.40
3 A0 KR K1 (+0.69) 25. 74 53.91
4w K X2 (+0.46) 28.15 1:00.44
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27.53 58.00 1:25.46 1:57.91 2:25.16 2:56.38 3:25.80
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4 Zm WAE X1  (+0.36) 29.42 1:02.51
11 FIEHE SR 2/ 7 4:00.16
27.86 58.84 1:27.76 2:01.55 2:29.30 3:00.17 3:28.20
1 B =3 (0.66) 27.86 58. 84
2 MBI K1 (+0.53) 28.92 1:02.71
3 EiE B K2 (+0.23) 27.75 58. 62
4 A B E2 (40, 41) 28.03 59. 99
12 b & e 1/ 1 4:03.84
27.49 57.11 1:26.45 2:05.27 2:32.87 3:03.51 3:31.44
1 R FIK =3 (0.62) 27. 49 57.11
2 K HENE w2 (+0.44) 29.34 1:08.16
3 Il K1 (+0.18) 27. 60 58. 24
4 FER W = (+0. 76) 27.93 1:00.33
13 KB E 2/ 1 4:04.58
29.64 1:02.54 1:31.09 2:03.35 2:31.54 3:03.61 3:32.38
1 XM WPy w2 (0.70) 29.64 1:02.54
2 Ik B w1l (+0.15) 28.55 1:00.81
3 HEN EAR X1 (+0.31) 28.19 1:00.26
4 AR Bl (+0.52) 28.77 1:00.97
14 HHYEH 1/ 7 4:09.79
28. 09 59.20 1:27.79 1:59.61 2:26.64 2:57.42 3:29.58
1 B AR x2  (0.67) 28. 09 59. 20
2 R KA X2 (+0.55) 28.59 1:00.41
3 Al K1 (+0.35) 27.03 57.81
4 FFH WF =3 (+0.93) 32.16 1:12.37
15 Fr)EiEE 1/ 5 4:32.36
31.21 1:08.12 1:48.16 2:34.52 3:03.76 3:34.57 4:02.62
1 A Fih w3 (0.7 31.21 1:08.12
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2 FR ok ﬁ”ﬁf‘ X1 3/ 4 1:08.10 8tk ( 0.65)
3 =M= KRR %kmg;.%f K1 1/ 4 1:08.11 8k ( 0.73)
4 /NEFUSERTE L & B NI 2/ 5 1:08.36 8tk ( 0.62)
I PN Eﬁ‘{i%z% il 2/ 3 1:08.82 8k ( 0.61)
6 HIAR HEIT I\ i 2 3/3  1:09.09 8fk ( 0.73)
T EEE ?E%zi%% 3 2/ 6 1:10.04 Tk ( 0.70)
8 @A ¥ INST R 5 B 3 1/ 5 1:10.23 Tk (0.74)
9 A HE Bﬂﬁﬁ%ﬁ% K1 3/ 6 1:10.67 6% ( 0.60)
10 (| 2 %ﬁéji%ﬁ—ﬂ; K2 3/ 5 1:10.71 6% ( 0.60)
11 =t = Edﬁﬁ%% = 3/ 2 1:10.77 7% ( 0.59)
12 fex Rifse @34?%8% K2 2/ 2 1:10.96 6k ( 0.78)
13 Zm tnE 7%5?%73% K1 2/ 4 1:11.89 6% ( 0.65)
14 (A KRRk rﬁ%g‘;ﬁ 2 1/ 6 1:12.30 6% ( 0.66)
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